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1 0.4+0.22-1.10
0.125 + 0.251
M1
1.818 — 1.10 For V removal of brackets and
0.125 + 0.251 division
0.718 M1
0.376
=1.910 Al
2 | 5148= 2°x3?x11x13
Bl
6048 = 2% x3? x13°
2 a2 2
2 %3 %x11x13
1
2?2x3?x13% 2
24 x3* x11% x13?
2x3x13 M1
3 3 2
2°x3° x11° x13 Al
3 M1
Total S&lESEX 385,000
100
commission= 375,375
3 150,000 + 2> (375,375 — 150,00 M1
100" > 100 &7 ,00) M1
4,500 + 3,380.60
Al
7880.60
4
4, 4 —x _ 1
2x+1 7 M1
28—7x=2x+1
27 = 9x Al
X =3
B -1,3 (x) M1
y=3 _ -7
x+1
y—3=-=7x—7 Al
y=-7x—4 4
5. 25%.2571 4 52x = 130 Alt




1 = §2x
52 ——+1 =130 M1 | Lety=5
25 Y 5% +y =130
52 =130 x—
26 M1
52 = 53 y + 25y = 130x 25
x = ; AL _ 130+ 25
Y= 26
=125
53 = 52x
3
73
Gain in speed 72 —56 km/h
= 16km/h Bl
distance in 54 sec
16x1000x 54 ML
60x 60
= 240
lentgh of second train Al
240 — 100 3
= 140m
243 5
b
(2 3)?+b% =52 M1
b? =25-12
b= 13
tane=2 3 Al
13 2
2 .
no of girls;x 35=10 no.of girls
boys 45 —10 = 35 M1
10+x 4
35 5 M1
50 + 5x = 140
5x =140 -50=90
x =18 Al




9 2 12
x—2 x+5 x+1
2x+5 -1(x—-2) 2
x—2 (x+5  x+1
2x+10—-x+2 2
x—2 (x+5 x+1
X+12 2
X—-2 x+5 x+1
2x+10—-x+2 2
x—2 (x+5 x+1
x+1 x+12 =2 x—-2 (x+5) M1
x?+13x+12=2x2+6x—10
2 Al
x“—=7x—22=0
7+ \49+88
x= 2 M1 | V attempt to solve
_ 7+V137 Al | Both values
2 4
10 longer side = x
shorter side = x — 4
lx Xt x—4 =99 Bl | formation of the expression
2
x2—11x+9x—99 =10 M1
xx—11 +9x—-11 =0
x+9 x—11 =0 M1 \/attempt to solve quadratic exp
x=11lorx =-9 AL both
longer side = 11 4
shorter side = 7
11 2x2—3xy— Zy2 3x +y
2 2 X
9x" -y 2x +y
2x2—4xy+xy— 2y2 3x +y
X
3X—y(3X+Y) 2x -y
2x(x =2y)+y(x—2y) 3x +y
X M1 | Factorization
Bx—y)Bx+y) 2x —vy
Cx+ y)(x—2y) 3x +y
X
3x—y (3x+vy) (2x+y) M1
x —2y
B e—— Al
(Bx—y)
3
12 logA =logK + Blogh




logk = —1.301

k =0.0978
1.301 Bl
logh = 437 = 0.3010 M1
h =2.000 Al
03
1
13 §x +2<x+5
3< 2
37X
-9 < 2x
Bl
—45<x
x+5<3x—-1 B1
6 < 2x
3<x Bl
’ o l | l l l |
45 I4 I l l I I l 03
-5 - 3 2 -1 0 1 2
14 < DFE 180 —-70 =110
Bl
< FBC = 25°
< ADF = 135°
< ABF =135°-25°
= 110° B1
2
15 log, x +log, 2 =2
1 + ! 2
g x+——=
2 log, x
(log, x)* + 1 = 2log, x* M1
V change to same logs
(log, x)* — 2log,x*+1=0
letlog,x =y
yi-2y+1=0 M1
yi-y-y+1=0
yy—1—-1y—-1 =0 Al
y—1 y—1 =0 Bl
y=1 4

log, x = log, 2
x =2
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b t1° 3
a -2 0 _ -2
b~ 3 1 2
-2 c _ 4
2 Ya T 4
B1
c _ 4 _ -2
d -1 2
6
-3
B(6,—3)
B1
2
17. area of front and back walls
6.3x3.2x2
= 40.32m?
area of side walls 4.5x3.2x2 M1
= 28.8m?
area of the floor6.3x4.5
= 28.35m?
M1
total area of floor and walls Al
= 40.32 + 28.8 + 28.35
= 97.47m?
= area of door is 1.85x0.8 = 1.48m?
area of the window = 1.5x0.7x4 = 4.2 M1
total area cemented = 1.48 + 4.2
= 5.68m?
area to be cemented Al
=97.47 — 5.68
=91.79 M1
(b) Al
cost of cementing materials = 91.79x500
= sh.45900
M1
(©)
cost of labour = 20%x 45900
total cost of cementing Al
= 45900 + 9180 10
= 55080
18. | (a) Bl
angle STQ = 28°
Bl

(b)

angles in the alt. segment




TQU = 1802— 54 _ 630 Bl
base angles of isco A Bl
(c)
Bl
<TQS180— 28+ 54+ 63
Bl
= 35°
opp angles of cyclic quad add to 180°
Bl
(d)reflex <U0Q =360— 2 54 Bl
=252
Bl
angles at the center
= twice angle at the circum.
/angles at a point Bl
(e) Bl
<TQR54+ 63 =117 angleinthealtse 10
19 | (a) Bl
y=b+ax—x3
% =a — 3x? B1
turningpta —3x%2 =0 m1
a = 3(2)?
Al
=12
g=b+122 —(2)3 M1
9=b+24-8
b=9-16 Al
= -7
Bl
b
Si—y)(a — 3x? )=-6x M1
dx
(c) maximum B1
y=-7
0,-7) Al
f =12 —3x? 10

gradient = 12

x,y 0,=7
+7
_Y =12

X

=y—12x+7=0
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x |4 |3 |2 |1 Jo [1 [2 |3
7 |7 |7 |7 |7 |7 |7 |1 |7
3x (12 |9 |6 |3 |0 [3 |6 |9
2x2 |32 |18 |8 |2 |0 |2 |8 |-18
y |13 |2 |5 |8 |7 |2 |- |-20

(b) On the graph paper

Bl
Bl
S1 |V
PL |V
_ c1 |V
(©)()
y =7 —3x — 2x?
0=7—3x—2x?
y=0 B1 | + evidence on the graph
x =2.75and 1.25
(ii) B1 both correct
y =7 —3x — 2x? N .
0 = 9 + 4 + 2x By | Yeduation
y=-2+X
X -2 0 2
y ) ) 0 B1 | vboth correct
10
x =-3.35,14
21 |(WP@=q~-p ,
i OR=p+3 q-p Bl
4 2 2
PT39—3D
13,3 M1
3P T34
.3 +
i —7p q3
b ST = —— Al
m q -
OoT = ! + 2
- 3PT34 a1
OT = os + st
_3 ., 3
= 4p m q 4p

1

2 3

3
OT:—np+—nq:Zp+nq—Zmp

3

3




3n2 4 4dm
§n =m......... ii
1 3 32 M1
31 43"
1 3 1 M1
3" T3 2"
1 4 1 _ 3
3n 2 4
5 3
- =-
6 3 46 Al
n= Z.X'g
9
i _2109
= —x— B1
m=3*70
3
m=g
3
ST =-5Q B1
, ] B1
TQ =35Q 10
T is common
22 - ‘
= B1 location of P
location Q
B1 location R
Bl
B1
‘ 7 B1
’ at least 2 bisector
T;R =4.2km Bl T located
¢ shortest distance 1.2km
. Bl
dl height 2.9 perpepndicular drawn value
Ex 8x29 M1

=11.6 km2

Al




14 h
s
(1=
@
=)
23 4 B1 | Vand pnts
= Bl | Vxf
ot Bas s (RS das ERTS 245 295 <
O r\/ ng(»;{xgl;kﬁ{:'“b
(@)
X f xf cf
1.2 6 7.2 6
1.7 10 17 16 M1
2.2 11 24.2 27
2.7 14 37.8 41
3.2 6 19.2 47 Al
3.7 3 11.1 50
>f=50 ¥ Xf=116.5
116.5
mean 20
= 2.33
Vef
b) 25th and 26th BL | ©
195+ 2716 051954 26716 45
) 11 ) ) 11 ' M1
2
1.95 + 0.4091 Al
2.35 4+ 2.4045
2
2.382 B2 | allV bars
10 | bl 4 bars
(©
24. | (a)
B2 |  right side for 2V
Bl | V left side
B1 | V measurement




% x 10 x 50

% x 50 x 250

Y x 20x 50

Y% (10+20)20

% (40+10)60

% x40 x 130

% (500+1250+1000+600+3000+5200)
Y2 X x 11550

5775

1000
0.5775 ham

Bl

B2

M1

M1

Al

10

Pts labeled

Atleast labeled




